
XY200U-C GVX 

Installation Instructions 

WWW.TZNEBULA.COM 



Installation Tools 

1. Fastening tools 

2. The hammer 

3. The scissors 

4. Phillips screwdriver 

5. A wrench (12mm, 17mm) 

6. Sleeve head (10mm, 14mm, 17mm) 



1. Install the rear fender 

2. Install Rear Plate Packing ASSY 

3. Install Rear Backrest Support Packing ASSY 

4. Install Pedal Packing ASSY 

5. Install Support Connecting Tube ASSY 

6. Install Foldable  Plate Packing ASSY 

7. Install Handrail Pipe 

8. Install Middle Handrail 

9. Tighten the Bolts  

10. Install belts     

1 

5 

3 

8 

4 

10 6 

2 

Erection Sequence 



1. Install the rear fender 

Operation instructions： 

1. Disassemble the packaging bag of 8 screw M8×40 on the 

reverse side of the rear plate 

2. Install the fender rear into the Rear Plate Packing ASSY  

Tools： 

1. cross screwdriver 

Matters Need Attention： 

1. Do not scratch parts 

The installation place 



2. Install Rear Plate Packing ASSY 

Operation instructions： 

1. Take out the No.11 standard parts bag and install the rear 

plate packing ASSY on the rear part of the frame with 2 Pin 

Axle and 2 B Shape Pin. 

2. Take out No. 13 standard parts bag and fix taillight cable 

inside the rear plate packing ASSY  with tie belt. 

Tools： 

1. The scissors 

Matters Need Attention： 

1. Do not scratch parts 

Tail light connection 

fixed place 

 

The rear plate hook shall 

be inserted into the frame 



3. Install Rear Backrest Support Packing ASSY 

Operation instructions： 

Use 2 bolts M8×40 to connect the rear backrest support 

packing ASSY and the rear plate packing ASSY to the 

second mounting hole from front to back (unfastening). 

Tools： 

1. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into 

the mounting hole 

Install in the second 

mounting hole 



4. Install Pedal Packing ASSY 

Operation instructions： 

1. Use 2 M8×40 bolts to connect the pedal packing ASSY 

with the rear plate packing ASSY (unfastening). 

Tools： 

1. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into 

the mounting hole 



5. Install Support Connecting Tube ASSY 

Operation instructions： 

1. Take out No. 11 standard parts bag and knock the plug 

of the frame into the rear bottom of the frame. 

2. Take out the No.13 standard parts bag and fix the 

support connecting tube ASSY with the frame with 1 Pin 

Axle and 2 B Shape Pin. 

3. Take out No. 12 standard parts bag and connect the 

support connecting tube ASSY with 2 M8×40 bolts. 

(unfastening). 

Tools： 

1. The hammer 

2. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into the 

mounting hole 

3. Weld facing down when support connection pipe is 

installed 

Pin Axle and B Shape 

Pin installation 

 

Welding face 

down 

Plug 

installation 



6. Install Foldable  Plate Packing ASSY 

Operation instructions： 

1. Take out the No.13 standard parts bag, use 2 M8×20 

bolts and 2 bushing, and connect the foldable  plate 

packing ASSY with the rear plate packing ASSY 

(unfastening). 

Tools： 

1. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into 

the mounting hole 

Remove the M8x20 bolts 

Insert the bushing 

into the bolt 



7. Install Handrail Pipe 

Operation instructions： 

1. Connect the handrail pipe with the rear plate assembly 

and the rear plate packing ASSY (unfastening) by 8 M8 x 

40 bolts. 

Tools： 

1. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into 

the mounting hole 

Installation of  

Handrail Pipe 



8. Install Middle Handrail 

Operation instructions： 

1. Take out No. 12 standard parts bag, and use 4 M8 x 50 

bolts and 4 M8 nuts to connect the middle handrail with 

the pedal packing ASSY and tighten it. 

Tools： 

1. Sleeve head (10mm) 

2. Wrench (12mm) 
Matters Need Attention： 

1. Do not scratch parts 

2. The bolt must be smoothly assembled into 

the mounting hole 

Installation of  

Middle Handrail 



9. Tighten the Bolts  

Operation instructions： 

1. Tighten all loose bolts (16 in total) 

Tools： 

1. Sleeve head (10mm) 

Matters Need Attention： 

1. Do not scratch parts 



10. Install belts  

Operation instructions： 

1. Take out the belt and fix the belt retractors on the 

installation points on both sides of the rear backrest 

support packing ASSY. 

2. Install the belt buckles to the rear mounting point of the 

seat cushion. 

Tools： 

1. A wrench (17mm) 

2. Sleeve head (14mm, 17mm) Matters Need Attention： 

1. Check the seat belt retractor, pull out the belt and 

release it, the belt should be able to rebound quickly. 

2. Pay attention to the direction of the bolt during 

installation, and the head of the retractor mounting bolt 

should be outward 

 
 Bolt head outward 

Seat belt buckle 

installation 



THANK YOU  

FOR YOUR SUPPORT! 

WWW.TZNEBULA.COM 


